EARAROBREBRT —5 XN—ZXBISH—F

20224658108 CX) 3EAH?2H

Ed-—1—r-0-5-8 Cont Y5

‘(fﬁ} W ‘I%EH?’JF&] | 5 1000 7=

[AE%] 1 7% :1,000,000 § ~ 237 :400,000 @  37&:250,000 3  43&:150,000 @ . 5 3&:100,000 M

B RS RS R HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
o )22 : -7-5- - TEKE (V)
1171 9| UtUR 4 4 Bl 1.(4_2).5 7-7-5-4 | 39.6 2 (41_5;) ﬁﬂ:ﬁ"
RiFVyvY/Ex B:byFITF ={atie
S~y P o T — : -3-3- = =IREEEE (IVHR)
2 3| vyrvzN—2 o6 ?6_0 1.(422).9 3-3-3-2 | 40.3 4 ‘:3)3 =i
RV VIVUFRS B:ITJOLVR LER%
S5~ 4 5 | LLlEEE 1:43.3 1-1-1-1 | 41.4| — 9 485 | I\EFFBE (VW)
3 )| =3V 54.0 ) #3) | RREH
R:O—IRA VAL BRARXFURY/N— R 3hz
4 8 | JISIEXER 1:43.9 12-12-12-12|39.6 | — 6 478 | AHS (W)
4011 INT 56.0 @ #3) A
RFEYRIYIZF BINFHRS Ve
. — N EMS . _8-7— — HPIEA (IHF)
517010 YV h=t525 v 4 P 1.?6.1 8-8-7-6 | 40.9 11 zzg; BELA
RIV—RAUVR B:JavFhvv [nEe]
S ~,3) s 6 | FERES 1:44.1 4-4-4-4 | M.6| — 3 509 | SHE— (KH)
EH 7 E=YFIY 56.0 NF) 3 | A BokE
RiXAYavR—5— BEINVY—IL U—Rh— 218
o~ st 4 | EREE 1:44.3 2-2-2-3 | 42.2] - 10 | 442 |KEFE H)
718[12 TITPRA=TY A51.0 (3/4) #3) |dRAE
R:AIU—vbe—0O— B:IARXAYIN EvIUy RI7—LA
- < AHIEE : -9-7- - YETFERE (/i)
8 g| PRYavuFy o4 gH 1(74:[11)3 9-9-7-9 | 41.2 5 (5+532) uﬁT%
R:VVIRUIURIR B:FUT+bIS5T EAIS
e t 4 | FEAEAS 1:44.4 6-6-10-10 | 41.1| — 12 | 406 [HEAR—K (KH)
9|5l VTP A51.0 @E) w3 | 0 =HEs
R:O—R7ZIVF«4X B:UF0— ERBUS
bl : -11-11- - BRE (K#H)
05| 5| v r0F 44 g 1(.14/42.)5 11-11-11-11| 40.8 1 (5+123) e
RiYZIRI—=ZZ29— B:¥S5PIEX el e
ty 7 | EHEER 1:44.8 5-5-6-6 | 42.0| — 7 496 | FEHAARL ()
1Mlgn|OAviL7o7x7 77 %0 A 3/4) @1 | (B J PN
R:xAIZYr7—R B:I—-ILRF47S5 B #BI1—-RKU—vavEET7
o e o4 | BEK 1:45.1 10-10-9-8 | 41.9| — 8 | 478 |HRE (KH)
En 4 ATMN=<X> 56.0 (1172 o |BIIESE
RiAIR B:hoT7—7o1A BHF T
@ 11— —®BIEfI
13—7— 2,12,3,7,11,6,9,10,8,4,5,1
20—F— 2,12,3,7,11,6,9,10,8,4,5,1
30—*+— |2,12,3,7,9,11,(8,10),4,6,5,1
43— — 2,3,12,(7,9), (10,11) ,4,8,6,5,1
o ILRE
B B 9 4004 JA R 3-9 620/ % 5E 3-7 1,290 3EE 2-3-9 11,110
7B B 9 2004 2-9 2,340 B 7-3 2,600H 3EH 9-3-2 39,230
3 1904 2-3 2,650M /B & 3-9 1,460
2 9404 =51 93 2,210

ABIC OV TRUTEREERRODDZE. THRIIZEL.




